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We can then determine the Fourier coefficients, ao, the an and bn from their associated
inner products:
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The Fourier coefficients, an and bn for n > 0 are:
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Now:

cos (nm/2) =cos (3nw/2) = Oforodd n= 1,3, 5, 7, ... etc.
However:

cos (nn/2) = cos (3nn/2) = -1 for even n = 2, 6, 10, 14, .... etc.
but:

cos (nn/2) = cos (3nn/2) = +1 foreven n =4, 8, 12, 16, .... etc.

Thus, for all integers, n > 0, the Fourier coefficients, an = 0.

Now:

sin (nm/2) = —sin (3nw/2) =+1forodd n=1,5,9, 13, .... etc.
but:

sin (nnt/2) = —sin (3nn/2) = -1 forodd n =3, 7,11, 15, .... etc.
However:

sin (nw/2) = sin(3nw/2) = Oforevenn=2,4, 6, 8, ....etc.
Thus, only the odd Fourier coefficients, bn are non-zero:
Foroddn=1,5,09,13,...etc., bh=2/n. Foroddn=3, 7,11, 15, .... etc., bn = - 2/m.
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